Mental

Drawing basic shapes using a stencil (3)

arithmetic

Observe Geom’s drawing and find the three mistakes that Squeaky has made.

Then continue Geom’s drawing.

Observe the table below and write down in the small clouds.

Dédé melons
... 23 kilos Gladys @

Gladys 19 kilos

The cat ..... 2 kilos

How many melons weighing
1kg each?

Write down in columns and calculate.

32+4+11=
25+7+21=
46 + 26 + 9 =

Dédé and @ melons
the cat b

How many melons weighing
1kg each?

A. Mental arithmetic: addition equations of a two-digit B and C. Situations where two shapes are superimposed or where the drawing of the one
number chosen between 10 and 19 to a one-digit number  shape is disrupted by another one. Squeaky’s three mistakes correspond to a drawing which
with a result <20 (same activity as on page 114). failed to be disrupted: the fir tree, the one wheel and the headlight of the tractor.—



